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Unit 2: Reasoning with Linear Equations and Inequalities
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Student Learning Targets

· I can justify the solution to an equation.  	⃝
· I can solve an equation in one variable.	⃝
· I can solve an inequality in one variable.
· I can prove that a system of two equations in two variables can be solved by multiplying        	⃝                and adding to produce a system with the same solutions.  
· I can solve a system of linear equations graphically.	⃝ 	
· I can graph a linear inequality in two variables. 	⃝	
· I can use graphs to represent and solve real-world equations and inequalities. 	⃝ 
· I can explain why the concept of a function is important and how to use function notation to	⃝ show a variety of situations modeled by functions.  
· I can interpret functions in terms of context. 	⃝ 
· I can use different representations to analyze linear functions.	⃝ 
· I can build a linear function that models a relationship between two quantities.	⃝ 
· I can interpret expressions for functions in terms of the situations they model.	⃝ 
· I can interpret key features of graphs in context.	⃝  
 


Vocabulary
	Word
	Definition/Rule
	Illustration/Example

	
Arithmetic Sequence 
	
	

	
Average Rate of Change 

	
	

	
Constant Rate of Change 

	
	

	
Continuous 

	
	

	
Discrete 

	
	

	
Domain 

	
	

	
End Behaviors 

	
	

	
Equation 

	
	

	
Explicit Formula 

	
	

	
Factor 

	
	

	
Inequality 

	
	

	
Interval Notation 
	
	

	
Linear Function 

	
	

	
Linear Model 

	
	

	
Ordered Pair 

	
	

	
Parameter 

	
	

	
Range 

	
	

	
Recursive Formula 

	
	

	
Slope 

	
	

	
Substitution 

	
	

	
Variable 

	
	

	
X-intercept 
	
	

	
Y-intercept 
	
	








EQUATIONS

[image: ]
Equations Involving Multiplication
[image: ]
Equations Involving Multiple Terms[image: ]
Solving Equations in One Variable
sn[image: ]
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[image: ]    Error Analysis
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Solving Equations Worksheet
Exercise 1
Solve these equations (find the value of x):
a) 5x + 1 = 31		b) 3x – 1 = 8			c) 7x = 60 + 2x

d) 3x = 72 – 3x		e) 6x + 4 = 20 – 2x		f) 6x + 3 = 23 + x

g) 5x + 4 = 2x + 17		h) 5x + 11 = 20x – 64	i) 28 – x = 17 + 3x	


Exercise 2
Solve these equations with brackets (multiply out the brackets first):
a) 5(x + 2) = 25			b) 2(2x + 10) = 40		

c) 3(2x – 5) = 21			d) 4(5x –3) = 7(2x + 3)

e) 3(4 + x) = 5(10 + x)		f) 2(3x – 4) = 4x + 3

Extension Problems
a) The area of this rectangle is 10cm2, find the value of x and use it to find the length and the width of the rectangle.

                                          	4x + 2


	10x – 1      
b) If the length of a rectangle is three time its width and its perimeter is 24cm, what is its area?


[image: literal equations]LITERAL EQUATIONS

[image: literal equations]

	1) Solve for x and check, 
    x + a = b




	2) Solve for x and check, 
    ax + b = c + d

	3) Solve for d and check, 
    C = π d	




	4) Solve for r and check
    4r – 5c = 3c






	5)  Solve for b and check,
bx – 5 = c
	6)  Solve for y and check,
36 = by








Literal Equations Practice

For #7-14, solve for x or y. Show your steps!
	7) p = 4x 
	8) cx – d = 4

	9)  r + sy = t
	10)  m = 2(x + n)

	11) 4x – 5c = 3c
	12)  abx – d = 5d

	13) 3x – e = r
	
14)  y = c





INEQUALITIES

Inequalities Review
Which number is a solution of the inequality?

____	1.	
	a.
	1
	b.
	-1
	c.
	36
	d.
	8





____	2.	
	a.
	2
	b.
	-2
	c.
	0
	d.
	-4


Write an inequality to model the situation.
____	3.	Thomas earned $44 or less.
	a.
	t > 44
	b.
	[image: ]
	c.
	t < 44
	d.
	[image: ]



____	4.	A number exceeds 55.
	a.
	[image: ]
	b.
	n < 55
	c.
	[image: ]
	d.
	n > 55



Write a compound inequality that represents each situation. Graph your solution.
____	5.  all real numbers that are greater than –4 and less than 4
	a.
	–4  x  4
[image: ]
	c.
	–4 < x < 4
[image: ]

	b.
	–4 < x < 4
[image: ]
	d.
	–4  x  4
[image: ]


____	6.  all real numbers at least –9 and at most 1
	a.
	[image: ]
[image: ]
	c.
	[image: ]
[image: ]

	b.
	[image: ]
[image: ]
	d.
	[image: ]
[image: ]



Solve the inequality. Then graph your solution. 



7.							8.  





 9.   							10.  


Solve the inequality. (4 points each)





11.  							12.  






13.  							14.  


Multiple Choice:  Identify the choice that best completes the statement or answers the question. 
		Solve the inequality. Then graph your solution.

____	15.  [image: ]
	a.
	[image: ]
[image: ]
	c.
	[image: ]
[image: ]

	b.
	[image: ]
[image: ]
	d.
	[image: ]
[image: ]






____	16.  –5 < 2x – 9 < 13
	a.
	2 < x < 11
[image: ]
	c.
	–16 < x < 2
[image: ]

	b.
	
7< x < 2
[image: ]
	d.
	2 < x < 20
[image: ]



Write a compound inequality that the graph could represent.
____	17.	[image: ]
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]


____	18.	[image: ]
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]



Short Answer 

19.		Your class hopes to collect at least 325 cans of food for the annual food drive. There were 141 cans donated the first week and 148 more the second week.
a. Write an inequality that describes this situation. Let c represent the number of cans of food that must be collected by the end of the third week for your class to meet or surpass your goal.
b. How many cans are needed to meet or surpass your goal?

	
20. The French club is sponsoring a bake sale. If their goal is to raise at least $150, how many pastries 
22. must they sell at $3.00 each in order to meet that goal? Write and solve an inequality.

	
21. Tina can type at least 42 words per minute. Write and graph an inequality to model this situation.
[image: MCj04465420000%5b1%5d]Solving and Graphing Inequalities
Solving an inequality is very similar to solving an equation.  The main difference is that we have an inequality symbol instead of an ________.
Examples 1, 2, & 3: Solve the following inequalities.  Graph each solution. 

1) p + 7 < 13		       2) t – 14 ≥ 6		       3) 5y < 20
[image: http://i.ehow.com/images/GlobalPhoto/Articles/5136620/256002_Full.jpg][image: http://i.ehow.com/images/GlobalPhoto/Articles/5136620/256002_Full.jpg][image: http://i.ehow.com/images/GlobalPhoto/Articles/5136620/256002_Full.jpg]

Try these: Solve the following inequalities.  Graph each solution.  Show all work!



4) 3m ≤ 12		       5) z – (6) > 2		     6)   c / 2 <  7 										           						

 [image: http://i.ehow.com/images/GlobalPhoto/Articles/5136620/256002_Full.jpg][image: http://i.ehow.com/images/GlobalPhoto/Articles/5136620/256002_Full.jpg][image: http://i.ehow.com/images/GlobalPhoto/Articles/5136620/256002_Full.jpg]

A Special Case: When multiplying or dividing by a ____________ number, you must _____________________________________ in order to keep the inequality true.  


		
Why? 
Suppose you start with the true statement: 2 < 3.  Now, multiply both sides by negative 2, for example.
What did you get? 
			.  
Is this still a true statement?  
Reverse the sign!

	



		Example:  Solve:  4n > 24	



[image: ]

[image: ]

Graphing Lines Review
[image: ]

How do you graph linear equations using a table of values?
3
1
Example:

      3x + 2y = 12
    

       



You try…
 x – 2y = 7
[image: ]



Steps:
1. Solve for y.

2. Choose 2 numbers for x.

3. Substitute into the equation and solve for y.

4. Place number in the table.

5. Plot the points from the table.

6.  Draw a line through the two points.








[image: ]How do I graph a line using the slope-intercept form? (y = mx + b)
[image: ][image: ]
   Try this one: graph this line.

Try graphing this line using the slope-intercept method.

SYSTEMS OF EQUATIONS

[image: ]

Solving Systems of Linear Equations
*A system of equations is solved by finding the 				 (if any) that they share.
*A system of 	 equations share either 	, 	, or 	 points.
*A system of linear equations can be solved using one of four methods.
		TYPE				DEF’N				WEAKNESSES	
I. Graphing

	II..	Table

II. Substitution


III. Linear Combination
			(Elimination)

Examples of types I, II, III, and IV.



I.				II.		(use the table)

										





III.				IV.				


Solve the following systems by graphing.  Check your answers using a table.


1.		2.	








3.		4.	









5.		6.	






Solve the following systems using substitution.



7.		8.	








9.		10.	








11.		12.	


Solve the following systems using linear combination.



13.		14.	








15.		16.	








17.		18.	


Use the GRAPHING or TABLE method if…
Use the SUBSTITUTION method if…
Use the ELIMINATION (linear combination) method if…

For each of the following problems, describe briefly which method would be most appropriate and solve.
Sometimes you’ll have infinite solutions:	Sometimes you’ll have no solution:


19.		20.	

method:	method





Some solutions are decimal:	Some solutions are fractional:


21.		22.	

method:	method:


		Some equations are large:


23.		24.	

method:	method:










25.		26.	

method:	method:





Use systems to solve the following problems.  The choice of method is up to you.  Use an alternate method to check your answers.

I.	Some coins (dimes and nickels) are in a pile.  The total 							
	value of the pile is $1.35.  The number of nickels is one
	coin less than twice the number of dimes.  Using a system
	of equations, find the number of each type of coin.



II.	The larger of two complementary angles is 12 more than							
	5 times the measure of the smaller.  Find the measure of
	the two angles.




III.	You are searching for two integers.  The sum of twice the							
	first integer and three times the second integer is nine.  At
	the same time, the sum of three times the first integer and
	twice the second integer is one.  Find the two integers.


Linear Systems

1.  Solve by graphing.  Check your proposed answer with a table.				1. 		

	




2.  Solve by substitution.				2. 		

	


3.  Solve by linear combination (elimination).				3. 		

	

Solve using the method of your choice.
4.	Bill has $2.00 in quarters and dimes.  The number				4. 		
	of quarters is 4 less than twice the number of dimes.						
	Find the number of coins of each type.	   	


5.	The larger of two supplementary angles is 6 less than				5. 		
	5 times the smaller.  Find the measure of the two angles.			 	  		
		
LINEAR INEQUALITIES


Graph the inequality.
____	1.	[image: ]
	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]




[image: ]2.  Write the linear inequality shown in the graph. 








Multiple Choice:  Identify the choice that best completes the statement or answers the question. 
		Solve the inequality. Then graph your solution.

___	3.	[image: ][image: ]


	a.
	[image: ]
	c.
	[image: ]

	b.
	[image: ]
	d.
	[image: ]







FUNCTIONS

[image: ]
[image: ]
[image: ]

[image: ]

Do you remember this math?
I can state the domain and range of a function!
· Put an x on the value that represents the domain of a function (.5 points each):
	(7, 9)		(0, 7)		(4, 9)		(0, 4)		(2, 0)
· Put an x on the value that represents the range of a function (.5 points each):
(7, 9)		(0, 7)		(4, 9)		(0, 4)		(2, 0)

I can recognize when a set of ordered pairs represent a function!(3 pts)
· Do the following represent a function? (write yes or no!  1 point each)
	______Set one:  	(7, 9)		(7, 10)		(7, 0)  	
	______Set two:  	(3, 1)		(6, 4)		(0, 2)
	______Set three:	(5, 4)		(2, 4)		(0, 4)
I can graph an equation!
[image: ]Can you graph this linear equation x + 3 = y ?		
Correct ordered pairs (2 points each pair = 
8 points)
Correct graph (2 points)
	   x
	  y

	
	

	
	

	
	





Characteristics of Functions
Section A.  State the domain and range of a Function
1) Put an x on the value that represents the domain of a function:
	(2, 0)		(1, 4)		(0, 4)		(0, 0)		(7, 2)
2) Put an x on the value that represents the range of a function:
(7, 9)		(0,7)		(4, 9)		(0, 4)		(x, y)

Section B.  State when a set of ordered pairs represents a function. 
Do the following represent a function? (yes or no)
	______Set one:  	(3, 9)		(3, 10)  	(3, 0)  
	
	______Set two:  	(3, 1)		(6, 4)		(0, 2)

	______Set three:	(5, 4)		(2, 4)		(0, 4)

	______Set four:	(x, y)		(x, -y)		(x, 0)

	______Set five:	(2, 4)		(4, 8)		(3, 6)


For those that DO represent functions, explain why they are functions.
            


Section C.  Graphing 
[image: ]Create 3 sets of ordered pairs and then 
graph the equation:  x =   y
	   x
	  y

	
	

	
	

	
	


		
[image: ]Create 3 sets of ordered pairs and then
 graph the equation:  y = 2x	
	   x
	  y

	
	

	
	

	
	


	
[image: ]Create 3 sets of ordered pairs and then 
graph the equation:  y = x + 2
	   x
	  y

	
	

	
	

	
	



[image: ]	
James is thinking of two positive whole numbers.  The sum of the whole numbers is 10.  Graph 3 possible whole number combinations that will satisfy the sum of two numbers is 10.  	
	
	   x
	  y

	
	

	
	

	
	







One natural number is 3 times another natural number.  The sum of the two numbers is less than 25.  Create an equation and graph 3 possible solutions 
[image: ]
			
	   x
	  y

	
	

	
	

	
	









ARITHMETIC SEQUENCES
Find the next two terms of each sequence and then describe the pattern.  

1, 3, 5, 7, 9, _____, _____				Description: ______________________		
	
2, 7, 12, 17, 22, ______, ______			Description: _____________________		

-416, -323, -230, -137, _____, _____		Description: _____________________		

-2, -5, -8, -11, _____, ______			Description: _____________________		


All of the patterns above are called arithmetic sequences.  Hopefully you noticed something about their pattern that makes them similar.  Complete the sentence below by writing a description of the pattern you noticed above.  

Arithmetic sequences are sequences of numbers where_______________________________________
____________________________________________________________________________________.

Let’s look more closely at the first pattern 1, 3, 5, 7, 9…  Suppose the domain is the position of a term 
(1, 2, 3, 4, etc.) and the range is the term (1, 3, 5, 7, 9, etc.).  
[image: ]
Make a graph of the points that are made (position, term) with the pattern.

What quadrant(s) are these points in?  Why?


What kind of graph do you have?


Write an equation for the graph.


How does this equation relate to the graph?  How does this equation relate to the pattern?



Do you think the graphs of other arithmetic sequences would look similar?  ______ Why or why not? 
[image: ]


	








[bookmark: _GoBack][image: ]
Arithmetic Sequences
Name the first five terms of each arithmetic sequence described.

1.  	a1 = 4,  d = 3									1. ___________________
2.  	a1 = 7,  d = 5									2. ___________________

3.  	a1 = 16,  d = 2									3. ___________________

4. 	a1 = 38,  d = 4									4. ___________________

5.  	a1 = ¾ ,  d = ¼ 								5. ___________________
Name the next four terms of each arithmetic sequence.
6.  	5, 9, 13, …								 	6. __________________


7.  	2, 3, 8, …									7. __________________
8.  	21, 15, 9, …									8. __________________

9.  										9. __________________
Find the nth term of each arithmetic sequence.


10. 	a1 = 1,  d = 10,   n = 25							10. ___________________


11. 	a1 = 3,  d = 9,  n = 11							11. ___________________

12. 	a1 = 7,  d = 3,  n = 17								12. ___________________
13. 	a1 = 2,  d = ½ ,  n = 8								13. ___________________
Complete each statement.
14.  	124 is the _____th term of –2, 5, 12, …						14. ___________________

15.  	–28 is the _____th term of 7, 2, 3, …						15. ___________________
16.   	– 17/4 is the _____th term of 2 ¼, 2, 1 ¾, …					16. ___________________



Find the indicated term in each arithmetic sequence.
17. 	a12 for –17, -13, -9, …								17. ___________________
18. 	a21 for 10, 7, 4, …								18. ___________________
19. 	a32 for 4, 7, 10, 13, …								19. ___________________
20. 	a10 for 8, 3, -2, …								20. ___________________

Find the missing terms in each arithmetic sequence. 
21.    	55, ____, ____, ____, 115							21. ___________________

22.    	10, ____, ____, ____, 2							22. ___________________

23.    	____, 6, ____, ____, 15, ____							23. ___________________
24.    	____, 49, ____, ____, 28							24. ___________________


25.  The last term of an arithmetic sequence is 207, the common difference 		25. ___________________
        is 3, and the number of terms is 14.  What is the first term?


26.  The third term of an arithmetic sequence is 14 and the ninth term is –1.		26. ___________________
        Find the first four terms of the sequence.



27.  During a free fall, a skydiver falls 16 feet in the first second, 48 feet in		27. ___________________
       the 2nd  second, and 80 feet in the third second.  If she continues to
       fall at this rate, how many feet will she fall during the 8th second?


Write the explicit equation for each arithmetic series below.
	
1.      


	2.     10, 100, 190, 280…
	
3.      

	
4.       4, 1, 2, -5…

e. 

	
5.    
	6. 10, 8, 6, 4, ….



	
7. 

	
8. 


	
9. 



	
10. 


	
11. 


	
12. 

	
13. 
	
14. 
	
15. 








16. Find  in # 1		17. Find  in # 2		18. Find  in #11.




19. Given . Find: d= _______.   


20. Write the first 5 terms of the sequence 



 
	Given Sequence Information
	Rule
	Additional Request

	1.     6, 7, 8, 9…. 
	

	


	2.      12, 10, 8, 6…. 
	

	


	3.      2, 12, 22, 32… 
	

	


	
4.     
	

	


	
5.     
	

	


	
6.     
	

	


	
7.      
	

	


	
8.      
	

	


















1. 	2. 	3. 	4. 	




5. 	6. 	7. 	8. 
51

Name Class Date

1 Additional Vocabulary Support

Properties of Real Numbers

Use the list below to complete the graphic organizer.

Associative Property of Multiplication Commutative Property of Addition
Identity Property of Addition Identity Property of Multiplication
Multiplication Property of —1 Zero Property of Multiplication

Addition Multiplication

( Commutative Property
of Multiplication
L axb=bxa
atb=b+a
Associative Property (
of Addition (axb)yxc
(@a+b)+c =ax(bXxc)
=a+(b+c)
( L ax1=a
L at+t0=a
ax0=0

-1xa=-a

)

Prentice Hall Algebra 1 * Teaching Resources
Copyright © by Pearson Education, Inc., or its affiliates. All Rights Reserved.
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1. Solve the following equations:

(a) 2+9=20
(b) £—8=10
() +16=24
@ z-3=13
(e) y—2=-8

(f) m+6=—4
(g m-71=-84
(h) t—24=-1
(i) z+15=2

(j) v +80=120
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2. Solve the following equations:
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3. Solve the following equations:

(a) 20—1=9

(b) $+4=12

(0) 2z +1)—7=

(d) 4(y+3) -2y =

(¢) 5(y+2) —4ly—1) =

5(2—x) —3(4—22) =20
2m+4—3m=8(m—1)
3m+12=2(m—3)+4
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2.

(a) Three times a number is equal to the number decreased by two. What is the
number?

(b) The sum of two consecutive numbers is 93. What are the numbers?
(¢) The sum of two consecutive even numbers is 46. Find the numbers.

(d) When the tax on cigarettes was increased by 5%, the price of a certain pack became
$5.60. What was the oringinal price?

(e) In 1994, 15% of the women who went on maternity leave returned to full-time work,
while in 1993 only 12% returned. If the number returning in cach year was 6, how
many left to have babies in 19947

() Two times a number is equal to six less than three times the number. What is the
number?
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Solving Equations —s I Correct?

Directions: Carls soived the following equations but was having some trouble. I each of the following problems, Carlos
made a mistake. See ifyou can help Carlos fix his mistakes. Examing th problem. When you find the mistake, circle I,
Then, inthe space provided, explain why itis a mistake,

nd then solve the equation correcty

maken |7, " Corected Solution -
|
|
i
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Linear Systems (A)

Bu+z=15
u+2z=10

. u+6y=32
u+3y=17

. 3c+4u =33
6¢+3u =36

.6u+v=18
Su+2v=22

Solve each system of equations.

5.

2a+2x =18
a+3x=17

S5a+2v =32
6a+6v =42

2b+v=13
b+v=38

3a+5u=17
2a+u=9

Math-Drills.com






Linear Systems (A) Answers

Bu+z=15
u+2z=10
u=4z=3

S <

+ 6y = 32
+3y=17
:27)}:5
. 3c+4u =33
6c+3u =36
c=3,u==6
. 6u+v=18
Su+2v=22
u=2,v==06

Solve each system of equations.

5.2a+2x =18
a+3x=17
a=5x=4
6. Sa+2v =32
6a+6v =42
a=6v=1
7.2b+v =13
b+v=28
b=5v=3
8. 3a+5u=17
2a+u=9
a=4,u=1

Math-Drills.com







image109.wmf
x

y

x

y

+

=

-

+

=

-

3

3

5


oleObject51.bin

image110.wmf
4

13

4

1

x

y

x

y

-

=

-

+

=


image9.png
Reflect: Which of the mistakes above have you made? Why do you think you have made those mistakes? How willyou
avoid these common mistakes? .
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1) Solve each equation for x.

ral Equations-Investigation

Equation 1: 2x+4=12 Equation 2: ax+b

Describe the Operations
used to get x alone.

Describe what terms you
were able to
combine/simplify.

Another approach...

How does the solution
appear?

Ifa=2,b=4andc=12 then equation 2 above is the same as equation 1.

Show that substituting these values into the solution for equation 2 gives the same

solution as equation 1.
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Functions and Their Graphs

What’s a Forum?

Functions and Their Graphs

Algebra

Find the graphs that are NOT functions. Cross out their corresponding

letter in the answer grid below.

<

A
v

=

=

n

ANSWER:

FII |T{HJE|WJO|JR]D|YJI |F{UINJC]JHJA|N|JG]E]|M|Y
AJGIA|TI |IN AJPJE[NJL|I JE|DJE|JA]JRJUJN|SJA|D
TIHJE[W]|I ED|IBYJO|JUJR|JGJE|MJA]JY|BJEJE]|N

(Place remaining letters in the order they appear in blanks above)

Copyright 2008 www.algebrafunsheets.com
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Fanction Notation

Coatlenze: £ )

i Fmaxietn =2

e

it (60— 7T Fil e bl nd e s g

Transie e following stements o coorinate poiats, d ten plot ham!
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5. Given s graph of s fnction €0

A= b= = @z

ApPLICATION
6. Swine T s snacking Piggnal. The fonction beloe dstemines how sy pople v svize
where = e i days a5 S = the b of pople i ousands.

S =9t-4

Find 8.

. Waatdoss (4 men i come?

[ r—

& Wt does 519 = 23 meam in comert?

e Graph e nction.
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Lesson 3 Evaluating Functions
and Function \otation
Agenda

Inperatives
1. Evlusce each unction o che given input e,
o For /() =-2601,fnd f(x) when x=1
b For f(s) =265, nd f(s) when x=0
& For gle)=6 fnd g(s) when x=2
4 For Be)=-75¢412,fnd 47) when 1212
2. Bt the funcion frthe gve viluss.
o

)
L b f2)
o 4
- a )
: e mwhen f(x)=2

- £ mwhen (=1

3. The funcrion A(¢) = 4+8¢ givs the height o  blloon offthe ground in fer) £ sconds afer
s lessed. Use hi unction  answer th questions below:

. Find 4(3). Whatis the real-ife meaning of this answer?
b, Find 4(10). Wht s thereal ife meaning of this answer?
& When s the balloon 76 e in he air?

Negotisbles

1. Wiite s funcrion torpresent each o the following snations.

4. Shelbic carns extra money helping students apply forjob by preparing resumes and cover
esters. Sh charges $35 plus $0.25 per word

cuonN i o oy uormpoiny

i
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Name. Date.
Literal Equations ALGEBRA

Solve the following literal equations for x.

1 xta=n 2) dx=9 3) dx+r=b

5) c(x+q)=5n 6) ay+3x=m

7) dwx=gq 8) Xic=d

10 The formula for potential energy is P = mgh, where P is the
potential energy, m is the mass, g is gravity, and Jt is height.
Which expression can be used to represent g2

W) P=m-h @ L-n
m

@ P-mh @ L
mh

bh
11) The area of a triangle is given by the formula A== Write an expression

that expresses b in terms of A and h
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2. Given f()=~4x+7 and gla)=3e-1,
& find fl+gx)

- BN SPENE)
o fnd 2400
& fnd 30002500

4e47 and () =3e-1,

3. Given fe)
@ 002

b b g0 27
o b fen=102

4 s f1)+ g(D=g(3)?

1. Use funcion notation o wece the followiag:
& *fof s 2 less chan § nes 2 number”
b ol xis 4 more than 3 s x squared”

126 ifoenig s i Al L otk Pt 1.« P o haopy o e s e e closor el
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Name

Wihat happened to the
plant [n maitlh class?

Find the range of each given function for the given the domain. Some answers appear more than once.

Period

T. f(x)=3x-2
Domain: {-2,0, 4}

W. f(x) =-%x + 1
Domain: {-6, -3, 9}

0. fx)=7-x
Domain: {-8, -5, 2}

U. f(x)=x2-5
Domain: {-2,-1, 3}

G f{x)=-x-2
Domain: {-1, 2, 4}

R. fx)=-Y2x +1
Domain: {-4, -2, 2}

A. f(x)=1-2x1-3
Domain: {1, 2, 3}

S. f(x)=-x+9
Domain: {-3, 1,7}

X
Cfx) ==

Q. f(x) 2

Domain: {-16,-12, 8}

E. f(x)=-5x+ 10
Domain: {0, 1, 2}

R. fx)=5-x
Domain: {-3, -2, 4}

I f(x)=Yx+4
Domain: {-6, -4, 2}

S. f(x) =x -9
Domain: {-8, -4, 8}

X
0. f(x)==-10

(%) 1
Domain: {-20, -8, 16}

{1,2,5}

{-8,-2,10} {-6,-4,-1}

{1,7,8} {0,5,10}

{-5,3,5}

(-11,-10,-7} {-4,-3,

2}y {4,-1,4} {-1,1,3} {0, 2,3}

{1,7,8} {-15,-12,-

6} {15,12,5} {-8,-2,10} {2,8, 12}

Copyright 2009 www.algebrafunsheets.com

{0,5, 10}
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Find the three terms in the sequence after the last one given.

1) 24, 21, 18, 15, .. 2) 32, 25, 18, 11...

3) -31, -37, 43, 49, ... 4) 18, 182, 382, 582, ...
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the difference between consecutive terms is

A arithmetic sequence i 2 sequence where | The diference berreen consecutive erms of an

constane. difference.
Recursive Formula ‘Explict Formula

‘arithmetic sequence is called the common

N 2111317, 31 25—
Tethe sequence arthmetic? How do you know?

3691215,

R ADUSKG FORMUS FORRTRRETCSEGUERGES |
Civen the arithmetic sequence —3,—113, .

Tz the sequence arthmetic? How da you know?

2481632

2) Write a recursive formula for the
sequence.

) Weite an explicit formala for the
sequence

<) What s the 56 term ofthe sequence?

Given the arithmetic sequence 10.5.0.-5.

) Write 2 recursive formula for the

) Write an explict formala for the
sequence

) What s the 209 term of the sequence?

“What are the second and third terms of the sequence 100, 82,7

T USKGAATHRETCSEGUENCESTOSOLVEPROBLERS

ver the st ten years the amount of snow a tow received formed an arEhmetic sequence. 21
inches of sow fell 10 ears ago and 19 inches el 9 years ago, bow many inches fell 2 years 2go?
Esplain.
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HW: Inequalities and their Applications

1
In the inequality below, x represents the number of cups of coffee that workers at & company drink
cach day.

Sr+202250

Which phrase MOST accurately describes the vatue of 17

A, al most 52 cups of coffee
B. exactly 52 cups of coffec

€. fewer than 52 cups of coffee
D, more than 52 cups of coffee:

2)

Hillary will not be charged & service fi if she kecps at Ieast 725 in her bank account. On Monday, her
account balance was $810,90. Hillary wrote the inequality below to find x, the amount she can
withdrarw and sill avoid paying the service fee.

81090~ x2 725

cans she withdras and NOT be eharged with @ service fec?

Which amount of money

EoSs0
G. 886
B $90
L s100
3)

A math club bought and printed T-shirts o sellas & fundraiser. The cost of 72 T-shirts was S368.80,
and the print sei-up cost was $40. They plon to sl cach T-shir for §7. The inequality below can be
used to find , the minimam number of T-shicts they nced to sel o recover the moncy spent on iniial
<osts.

I8BR0 440 T
What s the minimum number of T-shirts they must sell 1o recover the money spent on inital costs?

.50 T-shits
G. 49 T-shirts
H. 61 T-shins
L 62 Tashints
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2
Solve for x in the inequality below.

~15x5-25

5)

In the incquality 10x-+ 18 = 238, x represents the mumber of days Matt will e sble fo work during the
summer. Which phrase MOST accuratly describes that number of days?

. exacly 22 days
G. atmost 22 days

M. less than 22 days
1. more than 22 days

6

Whet are all possible values of x that satisfy the inequality 12— 3¢ < 187

A g<-2
B. > -2
C. x<10
Do =10
) :

Chris wants to order DVDs over the internet. Each DVD
costs $16.99 and shipping for the entire order is $9.99.
Chris has no more than $100 to spend.

+Write an inequality that represents Chris’ situation.

How many DVDs can Chris order without exceeding his
$1001imit? Justify your answer mathematically.




